TO VALIDATE, GO TO Certificate Number: LA-COO-44337-66034a9ce91f6

**VERIFY.FTGS.US** Date: March 26, 2024

Seller (Exporter) Ecosense Lighting, Inc. 837 North Spring Street	Transport Type Road	Port of Loading Riverside, CA  Destination Port Las Vegas, NV		
Los Angeles	Destination Country			
CA USA  Consignee Sun Valley Electric Supply Co 6575 Hinson Street Las Vegas, NV 89118 United States	United States			
	Export Date  ***********************************	Exporting Carrier  ************  Bill of Lading / AWB  ***************  Forwarding Agent  ***********************************		
	Import Permit Number			
	Owner or Agent ************************************			
Duyar (Importar)	Remarks			

Buyer (Importer)



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
SM16-07-10D-930-03	1 kg.	China
I.S.Code: 8539.50.0040		
AC-GC-6060-00-S1	1 kg.	China
I.S.Code: 9405.92.0000		
SM16-07-10D-930-03	1 kg.	China
H.S.Code: 8539.50.0040		
AC-GC-3636-00-S1	1 kg.	China
I.S.Code: 9405.92.0000 CERTIFICATE OF ORIGIN		
SP30S-18-09D-930-03 Accredited Chamber   US2100201	14 kgs.	China
I.S.Code: 8539.50.0030		
AC-E-GC-1717-00-S1	4 kgs.	China
H.S.Code: 9405.92.0000 \$P30S-18-09D-930-03 H.S.Code: 8539.50.0030		NAME OF THE PERSON OF THE PERS
SP30S-18-09D-930-03	1 kg.	China
S.Code: 8539.50.0030		
	<i>[</i> ////////////////////////////////////	



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of

origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Los Angeles Area Chamber of

Commerce ("LAACC") is accurate, true and complete.

The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.

-The Applicant is authorized to give the undertakings set out herein.

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-44337-66034a9ce91f6

**VERIFY.FTGS.US** Date: March 26, 2024

Seller (Exporter) Ecosense Lighting, Inc. 837 North Spring Street	Transport Type Road	Port of Loading Riverside, CA	
Los Angeles CA	Destination Country United States	Destination Port Las Vegas, NV	
USA Consignee	Export Date  ***********************************	Exporting Carrier	
Sun Valley Electric Supply Co 6575 Hinson Street Las Vegas, NV 89118	Import Permit Number	Bill of Lading / AWB	
United States	Owner or Agent ************************************	Forwarding Agent	

Remarks Buyer (Importer)



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
AC-E-GC-1717-00-S1	1 kg.	China
H.S.Code: 9405.92.0000		
SP30S-18-09D-930-03	1 kg.	China
H.S.Code: 8539.50.0030		
AC-E-GC-2525-00-S1	1 kg.	China
H.S.Code: 9405.92.0000		
SP30S-18-09D-930-03	13 kgs.	China
I.S.Code: 8539.50.0030 CERTIFICATE OF ORIGIN		
C-E-GC-3636-00-S1 Accredited Chamber US2100201	4 kgs.	China
.S.Code: 9405.92.0000		
P30S-18-09D-930-03	13 kgs.	China
I.S.Code: 8539.50.0030		
.C-E-GC-6060-00-S1	4 kgs.	China
H.S.Code: 9405.92.0000		
======================================		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
   The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



## **Commercial Invoice**

Invoice: 2024-03-22-104655

Supplier:

EcoSense Lighting Inc. 837 N. Spring St. Suite 103 Los Angeles CA 90012

US

Ship To:

Receiving/702-649-7160 Sun Valley Electric Supply Co 6575 Hinson Street

MK: 31543301/Hoover Dam Las Vegas NV 89118

US

From:

Agility Riverside 6681 River Run Road Riverside CA 92507

US

Sold To:

Sun Valley Electric Supply Co 6575 Hinson Street Las Vegas NV 89118

US

Terms: Net 30 Currency: US Dollar SO#: SOUS119196

Ship Via: FedEx Ground Cust PO: 4092-AJ-919020C Incoterm #:

Ln#	Part Number	Country of Origin	Description	Qty	Unit Price	Price Ext.
1	SM16-07-10D-930-03 HTS Code: 8539.50.0040	China	LAMP, MR-16 GU5.3/12V 7.5W 3000K 95 CRI 10D Soraa-US 00923	12	17.71	212.52
2	AC-GC-6060-00-S1 HTS Code: 9405.92.0000	China	SNAP ACCESSORY, GAUSSIAN CIRCULAR, 60D	12	3.95	47.40
3	SM16-07-10D-930-03 HTS Code: 8539.50.0040	China	LAMP, MR-16 GU5.3/12V 7.5W 3000K 95 CRI 10D Soraa-US 00923	2	17.71	35.42
4 SAMEA CHAMBE	AC-GC-3636-00-S1 HTS Code: 9405.92.0000	China	SNAP ACCESSORY, GAUSSIAN CIRCULAR, 36D	2	3.95	7.90

5	SP30S-18-09D-930-03 HTS Code: 8539.50.0030	China	LAMP, PAR30S E26/120V 18.5W 3000K 95 CRI 9D Soraa-US 00837	57	31.85	1815.45
6	AC-E-GC-1717-00-S1 HTS Code: 9405.92.0000	China	SNAP ACCESSORY, AC-E, GAUSSIAN CIRCULAR, 17D	57	4.95	282.15
7	SP30S-18-09D-930-03 HTS Code: 8539.50.0030	China	LAMP, PAR30S E26/120V 18.5W 3000K 95 CRI 9D Soraa-US 00837	13	31.85	414.05
8	AC-E-GC-1717-00-S1 HTS Code: 9405.92.0000	China	SNAP ACCESSORY, AC-E, GAUSSIAN CIRCULAR, 17D	13	4.95	64.35
9	SP30S-18-09D-930-03 HTS Code: 8539.50.0030	China	LAMP, PAR30S E26/120V 18.5W 3000K 95 CRI 9D Soraa-US 00837	12	31.85	382.20
10	AC-E-GC-2525-00-S1 HTS Code: 9405.92.0000	China	SNAP ACCESSORY, AC-E, GAUSSIAN CIRCULAR, 25D	12	4.95	59.40
11	SP30S-18-09D-930-03 HTS Code: 8539.50.0030	China	LAMP, PAR30S E26/120V 18.5W 3000K 95 CRI 9D Soraa-US 00837	43	31.85	1369.55
12	AC-E-GC-3636-00-S1 HTS Code: 9405.92.0000	China	SNAP ACCESSORY, AC-E, GAUSSIAN CIRCULAR, 36D	43	4.95	212.85
13	SP30S-18-09D-930-03 HTS Code: 8539.50.0030	China	LAMP, PAR30S E26/120V 18.5W 3000K 95 CRI 9D Soraa-US 00837	48	31.85	1528.80
14	AC-E-GC-6060-00-S1 HTS Code: 9405.92.0000	China	SNAP ACCESSORY, AC-E, GAUSSIAN CIRCULAR, 60D	48	4.95	237.60





**Invoice Line Total:** 6669.64

**Total Invoice Amount: 6669.64** 

These Commodities, Technology or Software were exported from the United States in accordance with Export Administration Regulations. Diversion Contrary to US Law is Prohibited

